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1km? = 100 ha = 10000 a = 1000000 m?
(1) 29 km? = 2900 ha = 290000 a = 29000000 m?
(2) 34000000 m? = 340000 a = 3400 ha = 34 km?
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9ha O 9900 m?
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9ha = 900a = 90000 m?
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2700000 g

2700 kg
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0.6t O 6000kg
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0.6t = 600 kg
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(1) 1698a =[ |m?
(2) 126m2 = a

(3)1080m2 = |a
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la = 100m?

(1) 1698a = 169800m?
(2) 126m? = 1.26a

(3) 1080m? = 10.8a




8.

oF £ 0] Holi ® haglx] FaHAL.

>
> MEH. 4.2ha

(AHE 9] wol)
= 280 x 150 = 42000( m?) = 420a = 4.2 ha




@D 330a=3.3ha
® 540000m? = 54 ha

® 1.7km? = 17000 a

@ 20ha = 0.2km?
@6.1 ha = 6100 m?

@ 6.1 ha = 61000 m?
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® 13ha=130a @)1.8km? = 18000 a
® 5.6km? = 5600 ha @ 92000a = 92ha

® 8.5km? = 850000 m?

B

@ 13ha = 1300a

® 5.6km? = 560 ha

@ 92000a = 920 ha

® 8.5km? = 8500000 m?
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® 0.21ha @ 3000 cm x 45 m

® 5800a @ 1.43km?

@1.41 km?

B
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@©0.21 ha = 2100 m?

@3000cm x 45m = 30m X 45m = 1350 m?
®5800a = 580000 m?

@®1.43km? = 1430000 m?

®1.41 km? = 1410000 m?
@>0>0>0>0
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D 0.75km? @ 100m x 4000 cm
@80000a @ 25ha

® 100 m x 3000 cm

B
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@ 0.75km? = 75ha

@ 100m x 4000 cm = 4000 m2 = 0.4 ha
3 80000a = 800 ha,

@ 25ha

® 100m x 3000 cm = 3000 m? = 0.3 ha
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@ 3t =3000kg @)9000t = 9kg
® 2t = 2000000 g @ 0.6kg=600g

® 0.65t = 650kg

@ 9000t = 9000000 kg
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9kg —» Dg
300g —» @kg

58t =Qkg=Dg
4600g = 4.6kg = Ot

@ 90000 @ 0.03 3 58000
@ 53000000 @0.0046

1kg =1000g , 1t = 1000kg , 1t = 1000000 g
@ 9000 @ 0.3 @ 5800 @ 5800000
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(ArerelEe] Hol)-(H2Hg el Wel)
— (304 34)x 1922~ 34X 72 = 608~ 119
= 489(m?) — 4.89a
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19 x 15 = 285(m?)
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712
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@& o] Hol2 7 b dgyh
24%x21+2)+ (5x10+2)+ (12 x 10)
252 + 25 + 120 = 397(m?)
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> HEh. 48ha
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1km = 1000m (<] Yol)= 600 x 1000 = 600000( m?) —
60 ha

(52 A2 Be] gol)= 6012 x — =

% = 48(ha)
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0.7t = 700 kg ©| =& 700 + 51 = 13.7--- YUt}
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3.4t = 3400 kg
2E oo Azl Bl =
(FRTF AR 42): 3400 < 17 = 200(AA})
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25 x 140 = 3500(kg) = 3.5(t) YUt
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7= 200 x 120 = 24000( m?)

H=E@x160

7+ Y=8 ha = 800a = 80000 m? o] 2L
24000+ x160 = 80000

@x160 = 56000

@= 56000 + 160 = 350(m)
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(8 2 5 e 47 3)

= (4000 — 15 x 250) = 5 = 250 = 5 = 50(7H)




